Math Review
Instruction: Do the following questions without using any calculator.

1- What is 
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 ?

a) It is +2

b) It is -2

c) It is ±2

d) None of the above 

2- Which of the following are correct?  why? 

a) Any number divided by zero is undefined

b) Zero divided by any number is zero

c) Any number divided by itself is 1. 

3- Find a value for X that 3 - 2X = 5.

4- Given X = 1 then which one of the following holds?

a) X is  1

b) X is  1

c) X is equal to one. 

5- Explain how do you graph the following equation:  2X + Y = 40?
6- Find the intersection coordinates of the two lines, that is the solution to the following system of equations
2X + Y =
X + 2Y 

A family has two children. What is the conditional probability that both are boys given that at least one of them is a boy?    Why?
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